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QUESTION 1

You need to include the items from the purchase order in the Intrastat journal. What should you do?
A. Transfer the Product Receipt form to the Intrastat journal.

B. Create a free text invoice.

C. Transfer the invoice to the Intrastat journal.

D. Create a manual Intrastat journal transaction.

Correct Answer: C

Reference: https://docs.microsoft.com/en-us/dynamics365/finance/localizations/emea-intrastat

QUESTION 2

DRAG DROP

You are the quality supervisor for a company. You receive 100 units of item C0O001.

You find defects in some units. You move the items to quarantine for further inspection. Fifty units fail inspection.
You need to scrap the defective units.

Which four actions should you perform in sequence? To answer, move the appropriate actions from the list of actions to
the answer area and arrange them in the correct order.

Select and Place:

Actions Answer Area
Enter a split quantity of 50.
Enter a scrap quantity of 50.

From the Quality order, create a Non-conformance for
the scrap.

@O

From the Quarantine order, select the Spilit function. @
Select the Scrap function.

Post an inventory journal entry to remove 50 pieces of
scrap from inventory.

Correct Answer:
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Actions Answer Area

From the Quarantine order, select the Split function.

. Enter a split quantity of 50.

From the Quality order, create a Non-conformance for

. Select the Scrap function.
the scrap.

©O

@ Enter a scrap quantity of 50.

Post an_inventoryjournal entry to remove 50 pieces of
scrap from inventory.

QUESTION 3
HOTSPOT
A company that has three legal entities is implementing Dynamics 365 Supply Chain Management.

One legal entity supplies the other two legal entities as customers with inventory. Intercompany master planning must
be set up and run in the least amount of time.

You need to configure the system to meet the requirements.
What should you configure? To answer, select the appropriate options in the answer area.

NOTE: Each correct selection is worth one point.

Hot Area:
Requirement Conliguration

Define the intercompany planning group. v
Cne group and three legal entifies
Three groups and one legal entity _ -
Cne group for the supplier and a second group for the customer legal entities

Run efficient iterations. B 4
1
2
30

Correct Answer:
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Requirement Configuration

Define the intercompany planning group. v
Cne group and three legal entities
Three groups and one legal entity [
Cne group for the supplier and a second group for the customer legal entities

Run efficient iterations. v
1
2
30

Reference: http://d365tour.com/en/microsoft-dynamics-d3650/master-planning-d365fo/intercompany-master-planning/

QUESTION 4
HOTSPOT
A distribution company uses Dynamics 365 Supply Chain Management.

A customer contacts the company to identify a defect in an ordered part. Additional quantities of the defective item are in
stock. The defective items require a task that will trigger an action for the items and a label printed.

You need to configure the system.
Which features should you configure? To answer, select the appropriate options in the answer area.

NOTE: Each correct selection is worth one point.

Hot Area:
Action Feature
Create an actionable task for the defective item. | v |
Nonconformance ]
Inventory status

lBatch disposition

Print a label for the defective item, >
Nonconformance tag

I_Pmduct label
[License plate label ‘
| Document handling

Correct Answer:
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Action Feature
Create an actionable task for the defective item. | v |
Nonconformance ‘
Inventory status

I_Batch disposition

Print a label for the defective item. v

| Nonconformance tag

| Product label

| License plate label ‘
| Document handling

Box 1: Nonconformance Nonconformance A nonconformance describes an item that has a quality problem. The
nonconformance process lets you create a nonconformance order that describes a quantity of nonconforming material,
the problem source, the problem type, and explanatory notes. You can define a classification of problem types to make
analysis of nonconforming material easier. You can also print a nhonconformance tag and a honconformance report to
guide the disposition of nonconforming material.

Box 2: Nonconformance tag

QUESTION 5

A company uses Dynamics 365 Supply Chain Management. The company provides warehouse workers with handheld
devices to perform inventory operations.

Periodic inventory audits are required due to the frequent theft of some inventory items from a warehouse. Some
inventory has been fully depleted. On-hand inventory quantities of other items are consistently incorrect.

You need to configure the system to automatically create cycle-counting work.

Which two methods can you use? Each correct answer presents a complete solution.
NOTE: Each correct selection is worth one point.

A. threshold parameters

B. work pool

C. cycle count plan

D. work policies

E. inventory journals

Correct Answer: AE
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